Siam Tamiya

Coming Soon 21-5-2021

Coming Soon On 21 May 2021

ITEM No. | DESCRIPTION PRICE ORDER
1/32 MINI SERIES
10309 2mm Washer Small *20 40.00
10310 Mini 4WD Circuit Jump Ramp *2 120.00
10311 G-22 Gear Pink *10 70.00
10319 Propeller Shaft C Set 60.00
10321 Mini4 Sliding Damper 2 Springs 60.00
15046 Gold Plated Terminal B 100.00
15111 Round Hole Ball Bearing 300.00
15206 2mm Hollow Prop. Shaft 80.00
15234 Hollow P. Shaft for Super X Chassis 60.00
15242 FRP Plate for Super X Chassis 80.00
15243 FRP Rear Stay for Super X Chassis 110.00
15307 R/C Mini 4WD Ultra-Dash Motor 340.00
15318 Sprint-Dash Motor 170.00
15344 9mm Ball Bearings *2 210.00
15398 Double Alu. Rollers (13-12mm) 370.00
15430 FRP R MultiRoller Setting Stay 140.00
15437 13mm Alu BR Rollers (Ringless) 260.00
15453 Carbon Rein. 8T Pinion *6 60.00
15455 Light-Dash Motor 160.00
15459 Side Mass Damper Set (AR) 260.00
15467 Wide Rear Sliding Damper 160.00
15469 Wide Front Sliding Damper 160.00
15472 FRP Wide F Plate Full Cowl 120.00
15484 Torque-Tuned 2 Motor 130.00
15495 HG Carb Rein Plt 1.5mm 340.00
15497 Carb Rein PIt 13/19RL 1.5mm 360.00
15498 Car.Wide F PIt 1.5mm 310.00
15503 Winning Bird F Clr Body PC 170.00
15514 FM-A Chassis Basic Tune Set 320.00
15518 FRP Rear Brake Stay Set 140.00
15519 HG Round Hole Ball Bearings *4 530.00
15520 Rear Skid Roller Set 110.00
15521 Mini 4WD Barrery Case 2 150.00
94577 8T Plastic Pinion Gear*10 100.00
94690 Mini 4WD 2mm Lock Nut *10 120.00
94691 Mini 4WD G-13 Gear Pink *10 50.00
94768 Bearing Roller Spacer (20pcs.) 100.00
94835 Mini 4WD EX Side Stay 60.00
95546 S Hard Lo-Pro Tire TMAC2020 80.00
95561 HG 19mm Alu BR Roller Rless, Bl 280.00
95611 Cyclone Magnum Clear Body Set 170.00
95615 Raikiri Clear Body 150.00
EDUCATIONNAL CONSTRUCTION
70242 Universal Joint Set 210
R/C SPARE PARTS

50106 7.2V Connector 140.00
50197 Snap Pin 90.00
50419 Celica Racing Radial Tire 280.00
50454 Racing Slick Tires *2 290.00

sale@tamiya.co.th



Siam Tamiya Coming Soon 21-5-2021

50568 M-Chassis Radial Tire *2 190.00
50594 2x10mm Shaft *10 70.00

50648 TAO1 T.Car Front Upright(Red) 170.00
50676 M-Chassis 8Spk Whl Plated *2 230.00
50732 10-Spoke One-Piece Wheels *2 240.00
51003 TT-01 B Parts (Suspension Arm) 470.00
51237 M-Chassis 11Spk Whl Whi *4 290.00
51253 TB Evo 5 B Parts (Bumper) 310.00
51263 Twin 55pk Whl *4 Bla 26mm/+4 320.00
51319 TT-01 TYPE-E D Parts 290.00
51356 TB-03 06 Spur Gear (647) 120.00
51391 M-05 C Parts (Sus. Arm) 340.00
51427 60D Rally Block Tire *2 240.00
51505 XV-01 F PARTS (Sus. Arms) 240.00
51527 TT-02 A Parts (Upright) 200.00
51529 TT-02 C Parts (Cup Joint) 230.00
51531 TT-02 G Parts (Gear) 150.00
51548 TB-04 06 Module Spur Gear 66T 110.00
51569 TRF419 Front Belt 171T 210.00
51589 OR Racing Truck Tires *2 320.00
51595 M-07 Concept A Parts Body Mt. 320.00
51596 M-07 Concept B Parts Bumpers 290.00
51624 3x6mm Steel Hex Head Screws*10 60.00

51626 3x8mm Steel Hex Head Screws*10 60.00

51628 3x10mm Steel Hex Head Screws*10 60.00

51640 TRF420 E Parts Rear Uprights 170.00
51641 TRF420 F Parts 4deg HC 180.00
51643 TRF420 Diff Pulley&Case (37T) 170.00
51646 TRF420 Rear Belt (62T) 180.00
51647 TRF420 Alu. F Direct Cups *2 480.00

R/C HOP UP OPTION

42118 3x32mm Blue Titan Turnbuckle*2 790.00
42120 3x42mm Blue Titan Turnbuckle*2 900.00
42172 VG Bearing Oil 200.00
42236 Wrench for Alu. Turnbuckles 400.00
42245 Alu. Body Adjuster Mount 390.00
42282 4mm Serrated Whi Nut Bla*8 130.00
42294 3x5mm Step Hollow Screw *8 200.00
42308 Silicone Oil Bottle Bag 500.00
42319 LW X-Joint for W Cardan *4 180.00
42320 LW Casing for W Cardan *2 450.00
47403 WR-02CB A Parts Gearbox Whi 180.00
47404 WR-02CB B Parts Uprights Whi 180.00
47406 WR-02CB F Parts Frame Whi 290.00
53113 Racing R/S Inner Sponge 100.00
53132 Flu. Color Antenna Pipes *4 180.00
53232 One-piece R.Spoke Wheels *2 220.00
53333 Touring Car Tuned Spring (Short) 380.00
53334 Low Friction Damper V Parts 150.00
53336 Reinforced 1P Mesh Wheels*2 245.00
53351 Aluminum Reinforced Tape 190.00
53423 0.4 Pinion Gear (46T, 47T) 450.00
53439 Anti-Wear Grease (3g) 230.00

sale@tamiya.co.th



Siam Tamiya Coming Soon 21-5-2021
53445 Hard Qil(#800, #900 #1000) 340.00
53506 39mm Light Rear Swing Shaft 670.00
53508 Metal Bearing Lubricating QOil 400.00
53536 3x12mm Titan CS Hex Screw *5 220.00
53539 ®5.5mm Aluminum Spacer Set 300.00
53569 Clamp Type Alu. Wheel Hub 6mm 750.00
53576 TRF Damper Qil Seal *4 90.00
53583 3x6mm Titan Socket Screw *5 200.00
53584 3x6mm Titan CS Hex Screw *5 210.00
53585 ®3mm Shim Set *10 x 3 types 210.00
53587 d5mm Shim Set *10 x 3 types 210.00
53603 Window Stickers 200.00
53642 5mm Alu. Ball Connector/Blue 270.00
53646 Wheel Spacer/Blue 260.00
53662 TT-01 Turnbuckle Tie-Rod Set 270.00
53665 TT-01 Spur Gear Set (55T/58T) 330.00
53666 TT01 Metal Motor Mount 330.00
53673 Toe-in Rear Upright/TT01,TGS 430.00
53674 Adjustable Upper Arm/TT01,TGS 450.00
53726 d6mm Shim Set *10 x 3types 320.00
53765 3x6mm Socket Screw / Blue*5 230.00
53766 3x8mm Socket Screw / Blue*5 230.00
53792 Univ. Shaft (TT-01, TAO4) 1,100.00
53907 5x8mm Alu. Hex Ball Connector 380.00
53909 Tamiya LED Light Unit (TLU-01) 1,600.00
54157 1/10 Touring Car Cockpit RHD 550.00
54157 1/10 Touring Car Cockpit RHD 550.00
54179 M-05 Ball Bearing Set 800.00
54186 Dual Block Tire K Rear 62/35 460.00
54247 3x18mm Alu. Turnbuckle Shaft*2 170.00
54248 3x23mm Alu. Turnbuckle Shaft*2 150.00
54249 3x32mm Alu. Turnbuckle Shaft*2 170.00
54250 3x42mm Alu. Turnbuckle Shaft*2 190.00
54257 5mm Rein. Adjuster Gray *5 120.00
54317 TBLE-01S Sensor Cable (12cm) 140.00
54318 TBLE-01S Sensor Cable (16cm) 140.00
54430 Sponge Tape for Bumper *10 110.00
54495 RM-01 Alu. Servo Mount 560.00
54499 Protective Sticker Hard 380.00
54500 TT-02 High Speed Gear Set 68T 350.00
54501 TT-02 Aluminum Propeller Shaft 220.00
54558 TT-02 Alu Motor Mount 520.00
54559 TT-02 Low Fric Sus. Ball *4 220.00
54579 1150 Bearing *16 600.00
54586 5x50mm LW Gear Shaft *2 100.00
54604 Body Mount Extension Set 190.00
54680 2WD Buggy F StarDish Wheel Blu 130.00
54681 4WD Buggy F StarDish Wheel Blu 130.00
54735 CC-01 Mud Block Tires *2 300.00
54760 M-07 Concept Alu. R Sus Mt 750.00
54814 TT-02 Carbon Bumper Support 280.00
54840 T3-01 R Spring SH 140.00
54862 Alu Servo Step Screws *4 240.00

sale@tamiya.co.th



Siam Tamiya Coming Soon 21-5-2021
54863 Alu HT Servo Saver Cap 140.00
54864 Multipurpose Driver Figure 240.00
54868 OF 5mm Adjusters M *8 130.00
54869 OF 5mm Adjusters L *8 130.00
54870 Stab. End 5mm Adjusters *4 130.00
54871 Rein. V Parts for TRF Dampers 190.00
54874 TT-02 Adjustable Upper Arm Set 580.00
54875 TT-02 QOil Gear Diff Unit 850.00
54877 T3-01 Aluminum Motor Mount 630.00
54881 Alu Adjustable SusMt (A) 460.00
54882 Alu Adjustable SusMt (E) 460.00
54886 TRF419 Suspension Upgrade Set 2,000.00
54890 M-08 Concept Carbon D Stay R 420.00
54894 TBLM-02S 17.5T 2,500.00
54925 630 Ball Bearings *8 340.00
54930 SW-01 G Parts (Gears) Yel 200.00
54937 Brass Adjustable SusMt (E) 500.00
54947 TT-02 Carbon Dstay Il 3.5mm 650.00
54956 TC-01 Stabilizer Set 610.00
56541 F Wheels (22mm) White 100.00
56542 R Wheels (22mm) White 200.00
56545 R/C Tipper Truck Actuator Set 13,800.00
1/10 R/C CARS
47470 Top-Force Evo. (2021) 14500.00
47458 Thunder Dragon (2021) 6500.00
58689 2020 Ford GT Mk Il (TT-02) 4800.00
58692 Unimog 406 Series U900 (CC-02) 9000.00

sale@tamiya.co.th



